Question 1: Which of the three options do consultees favour, and why?:

Option 2. Working in the social care sector | find an increasing number of older people are
becoming blind or partially sighted. This trend is set to increase as people continue to live
longer. Option 2 is the bgining but full access needs to be considered for the future. Blindness
or partial sight affects quality of life and well being.

Question 2: Do consultees have any further suggestions for future access
service provision? If so please provide the rationale for these suggestions:

Access should be for everything. Blindness or partial sight is increasing as people live longer.
This affects their quality of life. Place yourself in a dark room and feel the isolation.
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